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= 32,559
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= 14,000
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2 68,804
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12 JIEH2 42 1,000 1,000 0
OBBHMAE ADXEA 100,000 10 1,000
307 21201 & 4,050 4,050 0
02 LIRHBABE 4,050 4,050 0
Oneizs RFZHE F4
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SEREE 45,954 54,669 £8,715
101 Q1 24t 17,962 10,677 7,285
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OBINELES NLSEA L MLUTS 8,981
—Jles 37,0802+ 1802 +1% 6,675
= 37,0802 %362 1 1,335
—=p1013 8,010,000 *4.5% 361
—Ay=E 8,010,00024%2.82% 226
—3ley2s 226,000% 6. 55% 15
—18, MUEE 8,010, 000! +4.6% 369
OR4INA U SHATOIER K22 8,981
—Jle3 37,0802+ 1802 * 1 6,675
= 37,0802 %362 * 1 1,33
—=20013 8,010, 00024 +4.5% 361
—2Ae 8,010,00024%2.82% 226
—leyLE 226,000% 6. 55% 15
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01 At 22| t] 8,992 8,992 0
Odta+ +X=T 248 282,600% 122 3,302
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Ju: NS BLRS(HYES /BB B5UL)
cel: A e (e &)
- _ _ ME
SN -3 S2ARAH) - MFAY - BES Ol &t oH 0] Ak o Hlns2
| = 5,000
Olal 2 MEHE23 ME 20| A 14,000 0 14,000
= 7,000
2 7.000
201 ger2 g 14,000 0 14,000
= 7,000
2 7,000
03 & At2 | 14,000 0 14,000
O Dra MEHESH ME 20 #A 14,000
—0ta2 222 M& 1,5002+2,0005 +25 6.000
= 3,000
2 3,000
—J1gE mME 5,0002 50001 *2 5 5,000
= 2,500
2 2,500
—OHHE & S0 HIE 120,0002 *55 #2E 1,200
= 600
2 600
—JIEt #A 2| 1,800,000 *14! 1,800
= 900
2 900
AaC 2e|(BBES/MEEE - +H) 2,632,560 2,518,591 113,969
2 1,241,000
= 19,530
2 1,872,030
OIS &+% ]X 32,660 20,733 11,927
OiS&aE Y ofF 2 32,660 20,733 11,927
201 ger2 g 28,260 14,333 13,927
01 At 2reldl 28,260 14,333 13,927
OZRE 428 7 225,0002 *87H 1,800
Oltsa =22 A8 303,500 6071 4 18,210
OIS+ ST HA
65,0002 *607H 2 23] 7.800
OULE$+TIALSR 75,0008 171 2 *63 450
202 04 2,000 4,000 ~.2,000
01 2L 2,000 4,000 ~2,000
O& %01t 2,000,000 2,000
206 24l 2,400 2,400 0
01 X2 2,400 2,400 0
Oltsd+E AS9 ¢ 3,000 *800kg 2,400
DiS&+E HeE 2,572,000 2,497,858 74,142
2 1,241,000
2 1,331,000
OlS&4S JHeE 150,000 75,000 75,000
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ool DISASE i (Erol: @2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRs2
401 A& HI L 2 THH| 150,000 75,000 75,000
01 A& HI 150,000 75,000 75,000
Ooltsask 2=+ 6,000,000& 257 2 150,000
A2 =EAE W 1,772,000 1,772,858 A858
= 1,241,000
= 531,000
401 A& HIZ 2 CHYI 1,772,000 1,772,858 A858
& 1,241,000
= 531,000
01 Al Hl 1,764,203 1,765,376 AT1,178
Oaxmtl2 S==AE W 1,764,203
—2END, 4RXT, NN
588,067 ,600%3 74 Xl 1,764,203
= 1,241,000
2 523,203
03 A€ 2 0HY| 7,797 7,482 315
OARR BHAL HE
1,772,000,000& *0.44/100 7,797
2 == 650,000 650,000 0
401 Al & HI L 2 THH| 650,000 650,000 0
01 A& HI 650,000 650,000 0
ORENIS 44 HB(H4, FLAL/ X/
HIIBAH 150,000, 000& » 14 150,000
ORUOIS 44 W (Ha, FLAL/ AR/
HIIZ M) 150,000, 00021 #14} 150,000
OADIS 44 HB(H4, FLAL/ 2K/
HIIZAH) 150,000, 000& *14] 150,000
=uisel 64 AT (S, B0, E
g, 48,012, 7) 25,000,000& *6IH 2 150,000
OAt0tES dYZ2 ZZIA 333,330& *150m 50,000
A= 2te 27,900 0 27,900
= 19,530
2 8,370
AN XZ0IALE X2 27,900 0 27,900
= 19,530
= 8,370
101 @1214] 27,900 0 27,900
< 19,530
= 8,370
04 JIZHNIZ22XRSE+ 27,900 0 27,900
O&Aa=3AX 0l 22dl 697,500& x5 +82 27,900
& 19,530
= 8,370
ot=& 22| (BFES/MotaE - =) 320,500 232,309 88,191
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SN -EHH . (B) - MPAY - BE2 O &t 04 Sl ko HRE2
S 2 320,500 232,309 83,191
ot ALY 119,500 31,309 88,191
201 get2dd| 27,500 28,309 A 809
01 A2 2 2ldl 4,200 5,009 A 809
Ongds=d € RX2cl 300, 000& »42] 1,200
Oot+=EgR 2EE AEES  300,000& +102] 3,000
02 222l 23,300 23,300 0
Ost4% #3lbl 1,300,0002*13] 1,300
Ost4 22 L JIYEIE @I
5,000, 0002 *2CH 10,000
OBt421 A& Sl 2,0008%12,000m40.5 12,000
202 (44l 2,000 3,000 A 1,000
01 SLHAObI 2,000 3,000 A 1,000
O 2,000,000& 2,000
401 AIEBIL 208 90,000 0 90,000
01 A& HI 90,000 0 90,000
O M4 A0S St=SAFY  300,000& *200m 60,000
PF NZ2A(MXE) SH4S0IEBA
200, 000& *150m 30,000
St 288+ 200,000 200,000 0
401 AIEBIL 208 200,000 200,000 0
01 A& HI 200,000 200,000 0
Odt==2tH =4 100,000, 0002 * 14 100,000
OARR sH+T A 100,000,0002 14} 100,000
JHolst=HXelAlE 22| 1,000 1,000 0
201 gEt24Ed| 1,000 1,000 0
01 AL 22l bl 1,000 1,000 0
O=&ZAMN =2 10,0003 * 10090 & 1,000
Hazo(B3ES/HIIE) 4,691,713 4,558,415 133,298
= 1,905,540
= 6,400
= 2,779,773
FAadH2e 4,691,713 4,558,415 133,298
= 1,905,540
& 6,400
, 2 2,779,773
HOIZ&SgXeld 23 439,099 447,631 N8,532
101 @124 H| 60,736 66, 101 A5,365
04 JIZtHZ22 XS E+ 60,736 66, 101 A5,365
OMzEEME oy 53,876
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Off &F OH
e 37,0802 1802 62 40,047
—Fx4g 37,0802 +362 *6% 8,010
—-200013 48,057,000 +4.5% 2,163
—ALE 48,057,000 2. 82% 1,356
— LIRS 1,356, 0002 6. 55% 89
—08 M2 48,057,002 x4.6% 2,211
OMERoIR 37,0802 102 +52 x23 3,708
OFE+S HARY 37,0802 +72 +5% 1,298
OMEX 42 FArolwe
37,0802 102 +52 1,854
201 LBre | 146,579 143,346 3,233
01 At 22/t 24,170 18,890 5,280
OFALED 7Y 20,0002 x75* 122 1,680
O=EM, E2 S ZHIYR
450, 0008 *30 »23] 2,700
OBELS ARE 50,0002 *55 *43| 1,000
OXIGH=2AE £HAA 169,800 «4Z*43] 2,717
OFBIGHE S +HAM
284,000 +30H 2 %431 %0.63 2,148
OBES +EAM 330, 2008 25123 7,925
OFIIQ B2 YB 242 5000002 12 6,000
02 2=l 122,409 124,456 ~2,047
ongR=AY 28z 1,250, 000! *4CH 5,000
OMEEIY Sz 4,500,000 435 18,000
OFE+E AL 4,750,0002! *43] 19,000
OWH2LXY S|
1,78181%231.95L»4CH « 122 19,829
OFII23 1,500,0002 12 8,000
OWYHSLXY S| 1,500, 000! *4CH 6,000
ONEFSIXY 222
75,0002 105 23| »4CH 6,000
Y =42z 100, 0008 *30H * 128 3,600
tg S 2| 1,316%%5,000 £ 6,580
SNEEMEEIN] 1,200,0002 12 14,400
AE OHE BRI Y 3,000,000 23| 6,000
39,484 39,484 0
39,484 39,484 0
ONZH+Y 2 100, 000! *58¢ A 500
SEEIEI) 5,0002!*1,000kg 5,000
O%ZBRY (IHALH 2,0002! *50kg* 12 1,200
O#ELH2l 22IUAC
9,460 *100Lx2 5+ 122 22,704
OAS9%E 7 30,0008 *20L* 12 7,200
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Mo HABR (BALS/HIIS)
el HAWE B (=CR-EY
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
T * - =2 R wl e o = O:H{ﬂ,% Wsa
OIIECIXIEH 2L 60,000 *43| x12& 2,880
401 AlEHIZL 20| 30,000 24,000 6,000
01 Al &2 H| 30,000 24,000 6,000
[@Fdr=2—E=3:l! 10,000, 000& 23| 20,000
OHIIZs&Mel & & HE L orMAA| AL
A x| 10,000,000 1Al 10,000
405 XA S H) 162,300 168,700 A6,400
01 A S EF S HI 162,300 168,700 26,400
OMESPLCIIES 2 3,000, 0002 *43| 2,000
omEel U greimpgl
30,000 2, 0000 2= 120,000
Q& SLEXHEAIE T XEE 22
15,000,000 1Al 15,000
OalE4+S 2EPY 15,300
L HMNOZEOAZDETY
5,000,000& = 1CH 5,000
— 2£40H 2,000,000& *1CH 2,000
—HEESWEDE} 5,300, 000& = 1CH 5,300
—EHE4015 2B I
3,000,000& «1CH 3,000
SZHHIEx=HEH=2 XH 36,000 30,000 6,000
2 5,540
o 2,400
o 28,060
301 LEtE A2 36,000 30,000 6,000
= 5,540
= 2,400
o 28,060
12 JIEI2 &3 36,000 30,000 6,000
OsZHHlE =HEH= 50& *600, 000kg 30,000
c 2,400
o 27,600
OsZ=HHY™del XNEAIG(Z2DEX)
102! *554,000kg 5,540
= 5,540
=ZHHIE el XANRAS (28IF01=2)
103 *46,000kg 460
MY DISSFHE = 200,654 165,427 35,227
101 @1 2| 26,940 26,714 226
04 D12t MZ22NEES 26,940 26,714 226
O=28Z22 HXY sistsd HA o182 26,940
=2 37,0802 x180 «3H 20,024
S PNES= S 37,080& x36L *3H 4,005
— =203 24,029,000 x4 . 5% 1,082




SA: S
mu: mapel(BYLSE/HIIE)
el HAME B (el m
SN HB SR (BIH) - A - B S 0l &b S D=2
cto=m s I ° - == S = &= 0:”/&,% WS
222 24,029,000 *2.82% 678
—LAIRYES 678,000& *6.55% 45
-2 MHEE 24,029,000 *4.6% 1,106
201 L EH2FH| 20,400 14,669 5,731
01 AtR2tel 13,600 9,400 4,200
OEBSII Hg oot
100, 0002 *6IH 2 *1EZ *43| 2,400
oMyl 2¥SI| 208 J&
300, 000& *15J4 A& 4,500
OFZ2s =M =237 45,000&+55+123] 2,700
OH=M f€Hel ==2 500,000& *43| 2,000
OEPRUIAZE=Z XMel===2 500,000 =43 2,000
02 S=2gHl 6,800 5,269 1,531
OEsu%A w SwNsE S
1,000, 000& *4H 2~ 4,000
OZAIDtier &8I & SAe3
50,000 +3CH*12& 1,800
OZAIZtH el s AI22lbl 1,000,000& =13 1,000
206 =l 37,180 24,180 13,000
01 =4l 37,180 24,180 13,000
OMdDISEMSE M 37,180
—EHMEEHME(5L) 23% %20, 0000H 460
—EZMSEME(100L) 32&*25,00004 800
—SZHESEHZE(20L) 52&+150,0000H 7,800
—SZHSEHE(50L) 116& *140, 00004 16,240
—ESZMSSHM=E(1000) 2162 *55,0000H 11,880
401 A& Bl 2 CHYI 106,134 90,864 15,270
01 A& HI 105,000 90,000 15,000
OSFS Nex WESE 22 2N &3
250,000 *200m" *1JH A 50,000
OfR3H HEd A& 2 22A4 &1
100,000& +200m" »1JH A 20,000
Ootee mam Agew
100, 000& *350m" * 14 A 35,000
03 A& R0 1,134 864 270
SESHEE NEEE 22l BBAL 4X
A &2 50,000,000 =1.08/100 540
OSEX Mad Al 2T U FRAE &3
A& S H 20,000,000 *1.08/100 216
Ogtdd MEd Aldetd AIZRU
35,000,000 *1.08/100 378
405 KtatE =S| 10,000 9,000 1,000
01 At =S H S| 10,000 9,000 1,000
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SEEENEN 5,000, 0002 *2JH 10,000
TssZa 22 36,480 33,400 3,080
201 YEr2gy| 7,480 4,400 3,080
01 AtR 22|t 5,480 2,400 3,080
OO0ISAIS ZAl 22l & TA 240,002 107H 2,400
OTZEIA YT R
100,000 %25] %70 £ 1,400
OBZaFA B4 UL HB2RE 7
14,0002+ 105 +123] 1,680
02 ZZ2YHI 2,000 2,000 0
OZZsEA Xz 100,000 %2074 2,000
206 T 2 bl 2,000 2,000 0
01 T2 2,000 2,000 0
OBZ3TY 2SS
5, 00021 #4735 5074 2 23] 2,000
405 Xt &HF St 27,000 27,000 0
01 ML SEH S| 27,000 27,000 0
ORQLEEA 29 9,000, 00024 *3CH 27,000
Hrsmey 8,000 5,000 3,000
202 04t 8,000 5,000 3,000
01 2UH0i bl 8,000 5,000 3,000
O 01t 8,000,0002! 8,000
Ning-2C= 1,000 1,000 0
301 YBHEA S 1,000 1,000 0
12 JIEtR A2 1,000 1,000 0
O ZA3 10,0002 10021 1,000
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- _ _ MNEC
SH-EFHHA(FA) - NIRAE - BES Of] AF R Oﬁ/TFOH Hws2
ORSAE Fa==tl 5,000& *20Z+103] 1,000
= 500
i 500
02 2324l 556 0 556
OAEXNEHE 2323 30,8883 *3CH+6E 556
=2 278
= 278
202 ¢4 4l 2,000 0 2,000
= 1,000
i 1,000
01 2UHodHI 2,000 0 2,000
OASUHEXEHE bl 20,000 x2H +503] 2,000
= 1,000
i 1,000
HY2AHU (SHZAMD)(DIEH/IIE 29,028 42,520 A 13,492
Jl2Z 29,028 42,520 A 13,492
M J123l 23,208 36,600 A13,392
201 LBt Fd| 9,504 14,400 4,896
01 AtR2tel 9,504 14,400 4,896
OJlzge=d 9,504,000& 9,504
202 G4l 9,504 18,000 A\8,496
01 2O HI 9,504 14,400 24,896
oJlgge=xd 9,504,000& 9,504
203 ¥ =&l 4,200 4,200 0
04 REM2I TR 4,200 4,200 0
O&& 302105t 350,000 «12& 4,200
g J=2Z 5,820 5,920 A100
201 LBt2E | 5,820 5,920 A100
01 AtR2tel 5,820 5,920 A100
O Al 50,0003 x 114 5,700
o234l 120,000& 120
NS (220 (225 /46teE - +=3) 4,368,450 4,120,777 247,673
= 985,600
2 32,559
== 118,533
= 3,231,758
LHEHHXIE 3,231,758 2,730,777 500,981
EHMNH SEIH &S 2,079,757 2,593,183 A513,426
701 JIEtSI A &3 2,079,757 2,593,183 A513,426
01 JIEtalHE &2 2,079,757 2,593,183 A513,426
O=ZMed EE3H &= 2,079,757,000& 2,079,757
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SN B MY
i WRES(HYAMD)(BYLS/MTHAE - +7)

Sl S HHKIS (el &2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot Hws2

NST SEIH HEI 1,152,001 137,594 1,014,407

701 JIEHSI AR ED 1,152,001 137,504 1,014,407
01 JIEIEI HHE2 1,152,001 137,504 1,014,407
A EERR:E 1,152,001,0002! 1,152,001
SHENE 1,136,692 1,390,000 £253,308
= 985,600
= 32,559
= 118,533
SeZUHAY welZ ME 1,136,692 1,390,000 A253,308
= 985,600
= 32,559
= 118,533
311 X+ S0 KHat & 151,002 196,000 44,908
= 32,559
= 118,533
04 ELHLXLZ0INAE 151,092 196,000 44,908
ORFESI+ZLHIE 0ITAE 151,002,008 151,092
= 32,559
= 118,533
601 Xt A4 985,600 1,194,000 A208,400
= 985,600
04 ELYLAAZAZNE 985,600 1,194,000 208,400
ORFSI+ZLHAE SUAZ A8
985,600,0002 985,600
2 985,600
HEES(SAAMD) (BB 2S/HIIS) 40,000 160,000 £120,000
TEP R 40,000 160,000 A120,000
HOIZHINLZAX A2 HES 40,000 160,000 A120,000
702 J12FE2 40,000 160,000 A120,000
JPIEREE 40,000 160,000 £120,000
OHIISHANLFUNAIZ HE
40,000, 0002 40,000
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